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5\% 5\7/5‘//
54 o)
(=) H(z)= 12> é?/TQ
A1) R ? ¢
X(%): =< [XUILU% W — |~ >z
6 (
B )l ——— =
Y= 2 Ym0y 0 =
\)J_ ) :
L?/DQ /2/>Z
Raaas Te) [ mge-griz
(2)s ——— = X
X(2) [ =227 ~i+4745)
L/Pﬁ?//(/—ZZ')
/_/—
((’LZ) ?2)
|
L ?’} —/
_ [ 272
VR E} 1
o jEaCEak
=227
INEEERE N
( fz
2Lvse); Z -2 PA/LM’ 235



Zv>e) s = 2 , P/VLM, Zz ° ?
RoC éig HL2) < 12/>$
e
0
oA
// V
(b) =z 3
FVGW\ /LVZ\//-F )/((})t { g}g' } {g;])7
ﬁwuwbﬁ H &)
| 2
(2) 2 - 2
)/( ) [/52_‘ /‘52_)

Lg‘/n\ U "/J
() in k
ok 2
(2) = =
H2) N -R
= dg 2
K:D _
N A
= ~<— / St e LM 4 AN



k:o R.< 0
[ vom pert ed ) HE)S mEGCHS
/\éz‘/
OV |
Z) be - |
T o 2 VZ L b _
G e

P(Nis N gff/“ @










- BI I T
=) n) + i) — —=Yimr) = xin)
\{j 9 @ ’ U — X tn—1]

5l

'—-l

(<. LA h‘a hr - Sy

=) M . walr v s opot wu/[ad.oe/f Mt Ry
=) net stk 3 false

Al D deba 2w Os Thedadad Th RDC

DL P A e PR S LT sk weos- s eta)



W C




